



StudentName: _____

ExamDate: _____ ExamScore: _____

$$(-5)^2 + 7 =$$

$$(-10)^3 + (-2) =$$

$$(-4)^2 + (-4) =$$

$$2 - 4 =$$

$$(-2)^3 - (-2) =$$

$$6^2 - 3 =$$

$$(-6)^0 + 6 =$$

$$(-4)^2 - 1 =$$

$$1^3 + (-2) =$$

$$5^3 + 10 =$$

$$8^3 - 9 =$$

$$4^2 - 10 =$$

$$(-8)^2 + 9 =$$

$$1^0 + (-4) =$$

$$(-2)^2 - 5 =$$

$$8 - (-8) =$$

$$(-2)^3 + (-1) =$$

$$1^2 + (-7) =$$

$$1 - 2 =$$

$$9^3 + (-9) =$$



StudentName: _____

ExamDate: _____ ExamScore: _____

$$(-5)^2 + 7 = 32$$

$$(-10)^3 + (-2) = (-1002)$$

$$(-4)^2 + (-4) = 12$$

$$2 - 4 = (-2)$$

$$(-2)^3 - (-2) = (-6)$$

$$6^2 - 3 = 33$$

$$(-6)^0 + 6 = 7$$

$$(-4)^2 - 1 = 15$$

$$1^3 + (-2) = (-1)$$

$$5^3 + 10 = 135$$

$$8^3 - 9 = 503$$

$$4^2 - 10 = 6$$

$$(-8)^2 + 9 = 73$$

$$1^0 + (-4) = (-3)$$

$$(-2)^2 - 5 = (-1)$$

$$8 - (-8) = 16$$

$$(-2)^3 + (-1) = (-9)$$

$$1^2 + (-7) = (-6)$$

$$1 - 2 = (-1)$$

$$9^3 + (-9) = 720$$